[ Efficiency vs vertpos |

= 0.1 : :
©0.00F -+ +vererriereeen SRR RRIE e
b4 : : :

2 0.08F oo e e
(8]

G007 - ooeeeieeeenees :

S 5

£0.06 o . :

s S I rutl

0.04F -+ e Bt §

0.03 ey ;

0.02 : ' :

T ﬁﬂtﬁtﬁﬁ ........

1072 107 1

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd __,__ pQM_V0001_R000000001__Global__mkFitNewBinsAdj1000time_ RECO

~n 0.2
20.18
n E
>0.16F
>

8 I
g0.14f
3] E
£0.12F
(]

0.1
0.08
0.06
0.04
0.02

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
2y
c0.03
@
8.025
(0]
0.02f1
0.015
0.01

0.005

q

0.8

.............

i F

Ratio

0.6
-10

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


